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Building Skills p.12

Listening for Keywords

1. Keywords : public transportation, popular,
subway trains
Main idea : Subway trains are the most popular
transportation.

2. English, teachers

1. Many people ride on public transportation. Some
choose to ride in buses, while others use taxis. The
most popular are subway trains. These long trains run
underground, carrying a lot of passengers. It is a great
way to travel, because subway trains are always on
time, and stop in many popular places. They are also
one of the cheapest ways to travel. There’s really no
reason why a person should use anything else!
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2. W: Who is your teacher in English class?
M

. | got Miss Roberts. She’s a great teacher. She likes
to teach us by using games. How about you?

W: Mr. Jackson is our English teacher. He's such a
funny teacher. He jokes a lot when he teaches us
English. I think he’s better than our old teacher.

M: Oh, tell me about it. He was a terrible teacher.
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Listening to the Introductory Section

[

1.(0) 2.8 }

1.

2.

Learning a new language can be very difficult, but
we still need to learn it if we want to live overseas.
Some people might attend classes, or even find friends
that speak the language. Here are some ways to make
it easier to learn a new language.
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Let’s discuss why the human body gets addicted to
caffeine. Caffeine is found in drinks such as coffee, tea
and cola. The chemical is very poisonous to the human
body. Yet why do so many people drink coffee or cola?
The reason is simple. Caffeine is very addictive.
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Basic Drills p.14

1. (B)
6. (B)

2. (A)
7.(C)

3.(D)
8. (C)

4. (C)
9. (A)

5. (D)
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. | sure hope it doesn’t rain tomorrow.

W: Why is that? Do you have something planned for
tomorrow?

M: Yes, our football team is going to play against
another school.

W: | thought people play football even in the rain.
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. | guess so, but it’s very tough to play in the rain. The
lucky team wins.

W: Wow, | didn’t know that. Why does the lucky team

win?

M: It’s very hard to see in the rain. We also fall easily.
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Class, we're going to talk about how cavemen used
to hunt for food. Most people think that cavemen threw
stones or spears by themselves. However, scientists
have found that cavemen hunted in groups. In fact,
cavemen were very smart. Many of them were trained
to hunt for big animals. Some would stand in front of
the animals and distract them, while other people in the
group attacked from the side or the back. The cavemen
were very good hunters.
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People used to write on a rough and hard paper
called parchment. It turned yellow when left outside
for a long time. In fact, parchment is not really paper.
It is dried skin of a sheep or a goat. This is why the
color turns yellow after a long time. People do not use
parchment to write anymore, but still use the leather in
musical instruments.
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M: Hey, Melanie. Have you seen Jack?
W: No, | haven’t seen him all day. Do you need to see
him?

: He promised to help me move to another house, but

<

he’s already an hour late.
: Yes, | heard that he does that a lot.
: It's the third time that he broke his promise.
: Don’t worry. I'm sure he will show up sooner or later.
. | really hope so. | can’t move all this by myself.
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Humans have invented millions of things since the
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beginning of man. Of all those inventions, the most
important of all is the wheel. The wheel turns the whole
world around. Everywhere we look, we can see all
types of wheels. Literally, all the inventions of the world
have needed the help of the wheel. Without the wheel,
we would be lost in a square world.
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W: What do you want to eat for dinner later?

M: I’'m not sure. How about some lItalian food?

W: No, we just had pizza. | don’t think | want any more
[talian food today.

: Alright, we can have some Asian food.

: That sounds good. Let’s get some fried noodles.

. | was talking about some noodle soup.
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. Sure, I’'m sure the restaurant has both fried noodles
and noodle soup.
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Health is becoming an important topic in our
everyday lives. The things we eat and do can affect our
health. How can we become healthy? Just eating right
and exercising may not be enough. We also need to
care for our mind. A healthy body is of no use if we do

not have a healthy mind.
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W: Have you chosen your classes already?

M: Yes, | have. How about you?

W: No, not yet. | have to talk to Mr. Adams about it.

M: Why? Didn’t you read the booklet we got last week?

W: Yes, | did, but it does not have enough information. |
want to know more about some classes.

M: | see what you mean. Well, good luck trying to find
him. | heard he’s a very busy man.

W 4 A =2 E/L?

M: 0f EX0. H=?

W: OfL], OFAl ofFA Mt T2d0] il & 0[S alf ot
01.

M: of? X|ih F0f 2h2 ARHX} OF {01207

W: OtL|, HOiZt=dl, 77| Lot Q= HEJH SE6tX|7H LotA. &2 ot
S0 thellM & o L HHE.

M: & SQIX| LUCH O, MME & ZZ dief. 2 2 DLt HiACH

ozt

') -E;H Aél X
OXt= EXtollA| =S oo] MEHH=X] £ XU OHE] 1
JUCH O|OF7[SICE. EHIOII7| OHEA MRS HotEEl= 27 = AU
52 (A)= g0l oLt EH AMXK= XA Q222 (D)= &
0] OfL|Ct,

[0 o

booklet Aztxt

Coming back to carnivorous animals, | mentioned
that these animals only eat meat. We have to
understand that these animals have a killer instinct. This
is why most make very bad pets at home, as it takes a
skilled and trained professional to handle wild animals.
A carnivorous animal can even attack its owner if it is
hungry, because they like the taste of blood. It is best
to leave wild animals in the wild, where they feel at
home.
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2.(8) 3.(B) }

W: You look very tired. Didn’t you sleep?

W:
M: No, | only slept for three hours last night.
W: What did you do?

M: Well, it’s my neighbor upstairs. He turns up his music so
loud every night. | know it's a school dorm, but it’s still
too loud. It’s like he has a party every night.

W: Oh, did you tell him to turn it down? He should be quiet

after midnight. That’s part of the dorm rules.

M: Yes, | told him to be quiet, but he didn’t listen to me. He
says that he will be quiet, but he turns up the music 10
minutes later.

W: | think you should talk to the RAs. They will solve your

problem.

M: What is an RA?

W: An RA is a resident assistant. RAs are actually students,
too. They are responsible for everyone in the dorm.

They have to make sure that everyone is comfortable.
M: Oh, why didn’t | know about this RA? | will talk to the
RA when | go back to my room tonight. | really need to
have some sleep.
W: Don’t worry. I'm sure the RA will work something out.
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Many people visit supermarkets. Supermarkets have so
many things that it is hard to keep track of everything. This

is why supermarkets use a lot of modern technology. They

use technology to make shopping quicker and easier.
Barcodes are on every product in the supermarket.

The barcode system shortens cashier lines because fewer
mistakes are made. The cashier scans barcodes through
a scanner. The scanner reads the code and adds the total
amount. When all the items are scanned, the computer
displays the total price.

Although barcodes have been very popular, there is a
new technology overtaking barcodes. The system is called

RFID. Instead of barcodes, every item in the supermarket

will have very small microchips. Large microchip scanners
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in the checkout lanes detect the microchips on the items
inside the shopping carts. This allows shoppers to walk
through the cashier without scanning each item. This can

save a lot of time. There are already large supermarkets in
Germany that have this system.
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Listening Practice 3 p.21

[ 1. (C) 2. (D) 3. (B), (D) }

T. Today, we are going to discuss fossils. Does anyone

know what fossils are?

M: They are dinosaur bones in the ground.
T. Close, but not really. Fossils are old parts of prints of
bones or plants. Fossils give us information about the

Earth’s history.
M: Can soft parts of animals become fossils?
T: Not usually. They are usually made by very hard things,

,
L
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like bones and shells. However, whole insects have
been preserved in stones. Mammoths have been found
frozen in ice. Mammoths are large elephants that lived

during the stone age.

. Oh, when | visited the Grand Canyon, the guide said

that there were a lot of fossils there. Is this true?

Yes. There are many layers of fossils in the Grand
Canyon. Each layer is older than the layer above it.

: So, can fossils tell us anything else besides how old an

animal or plant is?

Yes, we can learn other things from fossils: the
development of animals and plants, as well as the age
of each layer.

: And | think fossils tell us information about the weather

in that area.

Right! We can also find out information about minerals
and fuels. Well, that’s all for today’s class.
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“‘Mammoths are large elephants that lived during the stone

age.” 2t1 25| YiCH

“We can learn other things from fossils: the development of
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animals and plants.” “We can also find out information about

minerals and fuels." S S5l & 4= {!Ct.
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1 1

1. (D) 2.(B) 3. (A 4. (D) }

=

?

Let’s talk about the Great Depression today. Has
anyone heard of the Great Depression?

Wasn't it during the early 1900s, when America went
through a lot of problems?

. | thought the whole world was affected, not just

America.

Yes, it was not just America, but the whole world. The
depression followed just after the Big Boom in the
US. The economy was going so well that people were
scared it would drop. So in the end, they began to sell
everything, and prices dropped very quickly.

. Wow, | didn’t know that it was that bad.

They didn’t name it the Great Depression for nothing.
Many people were out of jobs, and the value of money
was getting lower and lower every day.

So what did people do for a living?

Most people traveled around the country to find more
jobs. That was when the phrase “go west” was popular.
People thought that there were more jobs in the
western states, such as California.

: Were there really that many jobs in California?

Well, there were jobs, picking cotton and oranges, but

too many people came. Most people starved to death,

looking for jobs. The ones who survived the Great

Depression had gone through so much that we cannot

possibly imagine it today.
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Topic : Great Depression
e Actual state — during the early 1900s
— whole world was affected including
the US
— just after the Big Boom in the US
—no jobs & money value 4
® Reaction — people went west to find jobs

e.g. California: most starved to death

because too many people came
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Word Review
1

Part A

1. (C) 2.(©)
5. fossils

7. literally

9. resident

11. layer

6. rough
8. instinct
10. assistant

12. for nothing
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Focusing on the Important Details

1.Q1.0 2.Q1.T
Q2. X Q2. F
Q3. X Q8. F
Q4. F

. T. The US has 50 states. Which do you think is the

biggest?

W: Isn’'t it Texas? | read it in a book, | think. Wait, |
remember that it was another state.

T: You're right. Alaska is the largest state in the US. It
is large enough to stretch from the east coast to the
west coast. It's a huge state.
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There are many birds in this world, but the



hummingbird is the smallest. They are less than 5
centimeters long. They beat their wings the fastest.
They are so fast that we can’t see their wings moving
with our naked eye. The hummingbird needs to do this
so that it can hover in front of flowers while it sucks
nectar.
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Recognizing Rephrased Details

1. (B) 2.Q1.T
Q2.7
Q3.F
Q4.F

. W: Many people know the White House, but few know
why it was named the White House.

M: That’s easy. It's white.

W: Well, you're only half correct. The Biritish set fire to it
during a war in 1812.

M: That'’s terrible. Did the whole house burn?

W: No. Only some parts burned. People used white
paint to hide the black marks.

M: Oh, so that’s why people call it the White House.
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People like to measure things. So, it is natural for
people to think of ways to measure something. Even
earthquakes can be measured. They are measured
by the Richter scale. It is named after the inventor, Dr.
Richter. The scale goes up in numbers. An earthquake
of 2 is very weak. However, earthquakes at 6 or 7 on
the Richter scale can be very dangerous.

MNHE2 K{7IXIE £F5ZE Z0lelt). MatM, AkS0] o A
= Sl YYs 426l We A2 gdsitt. XITEAE £ZE 4+ AU
Cf. X|Zh2 2|58 22 SYEC aX2 LR 2|s|e HAte] 0IF

29I T2 ot of

Basic Drills p.32

1.0)  2.(A 3.0
6.(C) 7.0) 8.(B)

4. (B)
9. (A), (O)

5. (D)

1.

W: There’s a new opera opening tonight. Do you want
to go and watch it?

M: I’'m not too keen on that idea. | prefer watching
comedies or family movies.

W: Really? | didn’t know that. | thought you liked action
or horror movies. Well, let’s go to the movies, then. |
don’t mind watching anything.

M: Thanks for understanding. I'll pay for the tickets.
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When we talk of killer whales, we think of them as
friendly animals in the sea. But there are two big wrong
ideas about killer whales. First, killer whales are not
whales. They belong in the dolphin family. Second, killer
whales can be friendly, but they are very dangerous
when hunting. They catch and kill penguins and seals
for food.
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3. T. Does anyone have a lucky number?

W: | do. | always like the number 7. A lot of people in
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movies also choose 7.

M: | like number 1. | always like being first in things. |
don’t like losing.

T: Well, in math, there is no such thing. Let’s look at
the numbers on a die. There are 6 numbers on it.
When we roll it, each number has an equal chance.
For example, number 4 has a 1 in 6 chance.
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Life was very dangerous in the 19th century US
army. But it was not because of fighting with enemies,
or because of bombs. It was because of many
diseases. People in the army studied a lot to find out
how to stop them. They soon found out that they were
because of flies. They were carrying diseases and
sitting on the food. The army put up screens on the
windows, so that the flies could not come in. Finally, the
soldiers started getting healthier.
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. W: When do we have to sign up for a room in the
hostel?

M: You didn’t do it yet? Today is the last day!

W: What? It can’t be. | only got the e-mail last week.

M: Oh, you're mistaken. We got an e-mail exactly one
month ago.
: You mean that we had one month to sign up?

<=

: That’s correct. If | were you, I’d hurry and sign up. |
heard that most people signed up in the first 3 days.
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. T, What kind of hobbies do you have?

W: | like playing basketball. 'm 180 centimeters tall,
and | think I’'m pretty good at the game.

<

. | like to stay at home. | make miniature car models.

T. That’s interesting. How many car models do you
have at home?

M: | have 60 models at home. | try to buy at least one
every month.

W: That is a lot of cars. When did you start making
miniature cars?

M: | think | started when | was 13. My dad bought one

for my birthday. | couldn’t stop making them ever

since.
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Classic American stories showed birds as a positive
image. Owls stood for wisdom, and eagles stood for
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courage. There were other animals that had different
images. For instance, pigs meant laziness and greed.
Rats stood for dirtiness, and bats stood for evil. There
are also some animals that stood for both good and
bad things. For instance, many think of sharks as being
bad. But some Native American stories show sharks as
being brave and noble.
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. T: I want to remind everyone to be careful at school.
Some people have been robbed.

: What’s That’s unbelievable! When did that happen?

. | got my MP3 player stolen in the library too.
Did you report it to the librarian?

. Yes, | did, but | don’t think there’s anything that they
can do about it.

< 4 < =

=

. Wow, | guess | shouldn’t fall asleep in the library
anymore. | mostly go to the library to take short
naps between classes.

T: That's a good idea. Thieves steal things when their

owners are sleeping. | hope they get caught.
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M: | heard from Daria that you are not going to graduate

school. Is that true?

W: I'm afraid so.

M: What happened?

W: Well, | really wanted to get a scholarship. But |
didn’t make it, and the university just announced a
rise in prices.

: You have got to be kidding.

W: No. They said that school fees will rise by 20%. |

can’t afford it anymore.

M: Wow, 20% is a large amount. | guess you'll get a job

instead, then.

<

=

: I’'m afraid so. It’s not like | can sit around and do
nothing.
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Listening Practice

[1.(0) 2.8) 3.(D) }

W: You look worried. Is everything alright?

M: No. | have a really big problem.

W: Oh, tell me what is wrong.

M: Well, you know that I'm a scholarship student, right?
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W: Yes, | know you are.

M: I'm supposed to have a B average every semester,
or my scholarship gets canceled. That would be a
big problem for me.

W: Wow, that’s tough. So what is the problem?

<

. | had biology class in the morning. | was supposed
to hand in an important assignment, but |
overslept. When | finally woke up and ran to class,
the professor wasn’t there. If | don’t hand in this

assignment, the best | can do in this class is a C.
W: Why didn’t you go to his office? I'm sure he would
have been there.
M: | did, but he left for a vacation as soon as the class
was over. He probably took everyone’s assignment
too. Oh, | don’t know what to do.

W: You can talk to him when he comes back. I'm sure

he will understand that it was an honest mistake.
You can’t just slip the assignment under his door
while he is away.

: Yes, | guess not. | really should have run faster.

- No, I'think you should have woken up earlier.
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Listening Practice Z p.37

[1.(0) 2.0) 3.(A }

The gold rush in California of 1849 is the most famous
gold rush of North America. Over 80,000 people, called
the 49ers because of the year 1849, rushed to Northern
California to make easy money. The football team from

San Francisco is called the 49ers, after the miners. A lot of

people died on their way to California. Even when they did
reach California, most of the gold spots were taken, and
there was little land to get gold from.

But there were other gold rushes, mostly in the western
regions of North America. They were not as dangerous or
hard as the Californian gold rush. The Klondike gold rush
of 1896 is a fine example.

Klondike is a small town next to Alaska, and is part of
Canada. A Native American named Skookum Jim Mason
first discovered gold. Unfortunately, at that time, the white
people did not like Native Americans. So a friend of Mason,
called George Carmack, registered the land under his
name. They began to find a lot of gold in the area and built
a small place to live.

Soon, more people started hearing about this gold.

The new gold miners to Klondike were prepared. They

made sure that they had enough food and warm clothes.
In fact, they were so prepared that the gold rush was very
organized, and people rarely got hurt. Klondike still has a
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gold mining company, but the gold rush is over.
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3. “Klondike is a small town next to Alaska, and is part of
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Listening Practice p.39

[1.(0) 2. Yes: (B), (C)/ No: (A), D) 3. (B) }

W: What are you planning for your summer holiday?

M: I'm planning on getting a part-time job in the school.

W: Really? What sort of job are you looking for?

M: | was thinking about working in the library as an
assistant.

W: Hmm, that job may not be for you.

<
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=T 2=z =

: O HEZOl. L7t

Why do you say that?

. You are an active person and like music. The library will

be too quiet for you. You can’t even use the internet or
listen to music in there.

. I guess you’re right. What else do you think | can try?
: I heard that the school team coach is looking for an

assistant. He’s always very busy with a lot of work.

: What kind of job do you think an assistant must do? |

don’t want to just wipe baseball bats and helmets.

: Now you’re just being silly. | heard that the assistant

needs to manage a lot of equipment. The assistant also
plans the sports activities for the whole semester. It's a
big job, but it can also be a lot of fun!

: Hey, that does sound like a lot of fun! | wonder why |

didn’t think of that. Thanks a lot. I'll look for him right

now.

. You’d better hurry and find him fast. Quite a few

students want to work with him.

: Don’t worry, | know the coach very well. I'll talk to him

as soon as | see him, and take that job. | really want

that job now.
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iBT Practice p.41
1 1

£1.(C) 2.(A) 3.(8) 4.(D J

Hello, class. Today we are going to talk about April
Fools’ Day which takes place on the first day of April. It is
a fun holiday because people try to fool or trick others. So
when did this holiday originate and why?

No one knows exactly the true origins of this holiday,
and we have many theories. Let me offer the ones that are
most popular. The holiday seems to go back to ancient
times in which people reserved one day just to have fun.
People released a lot of stress by making fun of others.
So we can see that the ancient people set the model for
a holiday in which people could have fun as we do in April
Fools’ Day.

During the Middle Ages, a number of celebrations
developed. The most important of these was the Feast of
Fool’s. On this day, people made fun of the church. The
church, of course, did its best to stop this holiday, but it
continued on until the sixteenth century.

The most widespread theory about the origin of April
Fools’ Day was when the Gregorian calendar began to be
used. In 1582, France became the first country to switch
from the Julian to the Gregorian calendar. This switch
meant that the beginning of the year was moved from the
end of March to January 1st. People made fun of those that
still used the older calendars. The old calendar’s New Year
was between March 25t and April 1st. Thus, April Fools’
Day was born.
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er“\er \S‘ch'y p.43

The Origin of April Fools’ Day
|
The‘ory 2
e Theory 1 : ancient times
— reserved one day to have fun
e Theory 2 : Middle Ages
- “Feast of Fools” : made fun of the
church
e Theory 3 :in 1582
— Gregorian calendar reform
— the beginning of the year was moved
: between March 25t and April 1st—=
January 1st

\ \
Theory 1 Theory 3

Word Review p.4t
I I
1. (B) 2. (B) 3. (D) 4. (A)
5. greed 6. scholarship

7. rush 8. regions

9. equipment 10. quite a few

11.ancient 12. widespread

Part B

Function

Sample Question p.49
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Understanding Different purposes

Many are shocked that | gave the class a surprise
test quiz the other day. But | think it was worth it, as |
was even more shocked than the rest of you. It showed
that many of you have not even touched my year-end
assignments, and it worries me. The length of the
assignment cannot be finished within a week. Please
go back today and start your assignments. You cannot
pass this course without completing that assignment.
| believe this is fair warning, since it is still early in the
semester.
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Coming back to tire technology, there are virtually
hundreds of different tires for different uses. The
different types are usually determined by what surface
the tire is designed to be used on, as well as what sort
of car and what speed. As such, different materials can
give the tires very different characteristics. We're not
going to go into details right now, but the general rule
is that the faster the tire wears out, the more grip it has.
Finding the right balance is the key to a good tire.

Et0|0] 7|&2 SOI2tM, 0f2] 7IX|Q) THE 8= E 25t 72| 44 7t
X|2| EfOJO1S0| EXSICt 1 CHE SRS EE EN0|0{7} o &= THOf|
M A2 E XIot XtSAte] BF H £=0f w2t ZFECH 22401 AU0A,
MZ CI2 == Efolofo] 01 CHE EMS At XIg2 At
MIstAl S017IXl= LZKITE, Lutxol Zl2 Ek0|017f o we| g2
J(=HA 0]112{XIX| = &
= 20| £2 El0[0{2] E4/0|Ct,

-III
|1_|0II

B
A

)2 O Mich= Zio|ct. X5t

EY

S0
cc’iE

Listening for the Underlying Meaning

1.4 2.8 }

M: I’'m surprised to see you here. Shouldn’t you be
helping Mary with her assignments?

W: | should help Mary with her assignment? Why don’t
you help her?

M: Calm down. | didn’t mean it that way. | thought you
were tutoring her after classes.

W: Oh, I’'m sorry. I'm a bit sensitive these days. I've got
so much work to do. That’s why | turned Mary down
when she asked for my help last week.

M: O{7|AM SHACH S8 ol2] X5 Z2tFD QLojof &= 7 oty
0fF?

W: o2| SIS otk ECta? Y7t ZotEX| 2h?
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EK# XEI.E O}-O}'Xl

W: of, o|etel. 2F & of2lsiA. & o] 4T Zot. X[k ZFof oif2|7t
X Zofgetn S AAES A= 1 [E0[of.

Science and medicine have improved so much
over the last hundred years. We have discovered many
new ways to heal patients. Technology also allows us
to do things that were unimaginable just 20 years ago.
Nevertheless, | wouldn’t say that we are anywhere
close to being successful in winning the battle against
diseases. Far from it. There are only a handful of
diseases that we have been successful at defeating.
Smallpox is such an example, but this was only

possible after introducing another form of pox into it.
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Basic Drills p.52

1.C) 2.(A) 3.8 4.(B) 5.D)
6.(A) 7.(C) 8.(MD) 9.(A

. W: | got my notes stolen in the library.

M: Oh, I'm sorry to hear about that. Where did they get
stolen?
W: In the library. | put my bag and notes on the table,
and then | went to get a few books.
: Then what happened?

= <

: When | came back, they were gone. ) | didn’t think
| was gone that long.

M: So that means it's someone from this school. Who
else would have stolen only your notes?

: Yes, | think that’s obvious too.
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Airplanes have so many buttons and lights in the
cockpit. Pilots have to practice a long time to fly the
plane. It might seem like it is very hard to control. But
helicopters are, in fact, much harder to control. The
pilot has to use his legs and hands all the time. He
cannot rest until the helicopter has landed. Even flying
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in one spot in helicopters takes a lot of skill. It truly is
very difficult to control a helicopter.
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M: Where are you going with all those empty boxes?
Are you moving out?

W: No, | need to clean up my room.

M: But that’s a lot of boxes. Are you spring cleaning?

W: Not really, but my parents are coming to visit my
dorm soon.

M: Now you’re in trouble. How are you going to clean
up so quickly?

W: ) Tell me about it. | haven’t cleaned my room in
two months.

M: | guess you can’t do it all by yourself. Let me go
and help you out.

: That would be great. Thank you so much.
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4.

Singers are popular among many people. They
sing all types of songs for people to listen to. But many
singers do not write their own music. Instead, there
are people called songwriters. They write the songs for
singers to sing. {3 Perhaps they should have as many
fans as the singers do. Without them, many singers
would not have anything to sing about.
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W: When do you think that they will paint the school
again? It looks so old and dirty.

M: | heard that they painted it just 5 years ago. It hasn’t
been very long. People say that the rain keeps
getting the buildings dirty.

W: 3 | don’t know about that. There are two more
schools next to ours. Their schools always look new
and clean.

M: | guess you're right. There must be some other
reason, then. Maybe our school does not clean the
buildings often.
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When students study in class, they must realize that
they must be active to really learn. Most students do
not raise their hands and ask the teacher questions.
They are either too shy to talk in front of other people,
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or they feel that their question is silly. {3 This is really
a shame, because there is no such thing as a silly
question in discussions. In fact, many other people in
the class might want to know the same thing, too.
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W: Are you ready for the big race tomorrow?

<

: Oh, yeah. | think | am the quickest runner in the
school.

W: Are you sure about that? | heard that there were
a few quick runners in the other classes. Other
people from their class say that their runners are the
quickest.

. 0 Tell them to bring them on. | will beat all of them.

W: Wow, you're really confident. Alright, I'll see you

<

tomorrow. | hope that you really win.
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Going back to the sport of golf, many people play
this silly sport. A person basically hits a small ball with
a metal stick. Then they walk and find the ball. They
try to hit the ball into a small hole with a flag in it. {73 |
can’t really see the point. Can you? | think that people
are better off playing a real sport, such as baseball or
soccer. At least people really run in that sport.
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Human cloning or stem cell research has been a
hot topic in most discussions lately. Of course, there
are many issues that talk of ethics, {3 but we won'’t
go into that now. What we’re more interested in is how
people can benefit from cloning. It is said that we might
be able to cure many diseases that we previously could
not. All we need is a sample of our own DNA. But we
need to go to special clinics to get it. People are lining
up outside specialized clinics, in case they become sick
later on in their lives.
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“... there are many issues that talk of ethics, but we won't go
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into that now. What we’re more interested in is how people
can benefit from cloning.”& 2|<&IAIH CI2 o2f 7tX| ==X 0|4
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Listening Practice p.55

[

1.A) 2.0) 3.(8) }

T:

M:

W:
M:

W:

T:

M:

T‘?%?T‘

Does anyone believe in tarot cards or horoscopes?
Yes, | check my horoscope in the newspapers every
day.

{3 That's silly. You know it’s not true.

| know it's not real, but | find myself reading it all the
time.

Well, who is to say if it’s true or not? But
fortune-telling, like crystal balls and palm readings, is
widely accepted as being false.

So how come people still believe in fortune-telling?

A lot of it has got to do with psychology. We often find
ourselves with problems in life. It is in our nature to find
the reason for such problems. A lot of the problems
are really our own fault, but our minds refuse to

believe that. Instead, we want to look for some way to
blame our problems on something else. This is where
fortune-telling comes in. It gives us a way out of taking
responsibility. It's easier to blame something that can’t
talk back, rather than a person.

So it’s not very good for humans in the long run?

Yes. All we are doing is finding more excuses, instead
of correcting ourselves. Therefore, we keep finding
people or things to blame our problems on, even if they
have nothing to do with them.
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=

: Yeah ...

Hello, Tina. How are you? It’s good to see you. What
can | do for you?

. 73 Hello. I'm fine, thank you. | have come to discuss

something with you. I’'m worried about my performance

in class. | don’t think I'm doing too well.

WEell, you're right. Your test scores are fine, but

you could probably improve your grade in class
participation. Is there something | should know about?
If something is bothering you, it's better to let it out.

: No, it’s nothing serious. It’s a bit hard to say. | am not

a shy person, but somehow | can’t seem to talk well in

class.

Is it because other students ask too many questions?
each time that | want to say something,
someone speaks before me, and | feel like | don’t ever
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get a chance to speak. | just find myself lost.

T. Hmm ... | see. So you find the guys talk too much and
too quickly?

W: Yes. | feel so slow and dumb.

=

No, no. You should never feel like that. | sometimes feel
that some of them actually disrupt the class with their

endless guestions. | have a suggestion. From now on,
just look at me when you want to say something and |
will call on you.

: OK. I'm not sure whether you will be able to see me.
No. | will be looking out for you. | think a lot of people
will be happy to hear what you have to say in class too.
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1. ‘I have come to discuss something with you. I'm worried

about my performance in class. | don't think I’'m doing too
well."2t0 Z0] 40| MMES F0I2 SXIS 0f7[3Ct 7|Z ALY
DZHME E2 2ZE WhZ0| o2t ¢ A7t 2730 Z/ofM Fot2
Zo|ct,

2. ‘I have a suggestion. From now on, just look at me when you
want to say something and | will call on you." 2t MA0] o
Mooz g2 (A)OICH ~S Ec SME B0l T2 1R Zo|, Wl st
= AE0| UCH= A0|X| &ot2 sHE T I3 Hak2tn HMoh= 20|

o2z (C)= gol & = gich,

3. MAH0| L7t Zotok & HIW7F Q= AU 2= 2= o] #1n

t
= 2HE 208 Rote Aol

performance A& A1t participation #0of dumb Hig z2
disrupt ttsfiatct

Listening Practice 3 p.59

[1.(0) 2.0) 3.(A ]

Spain and Portugal came to dominate the seas after
Columbus discovered America. ) Basically, Spain and
Portugal got to divide the world as they wished, and no

one could really challenge their control of the seas. But
unfortunately, Spain didn’t keep its control of the seas
for a long time.

There was one country in particular that was set to
explore the world and conquer it. Under Queen Elizabeth |,

England came to rule the seas. But first, it had to overcome
the strong Spanish fleet.
Under King Philip Il of Spain, Spain was a mighty sea

power, dominating the Atlantic routes to the Americas.

Elizabeth’s response was to encourage her ships to attack

the Spanish ships and claim their treasures for England.
In the 1560s, Spain entered a war with the Netherlands.
Elizabeth decided to support the Dutch. Spain responded
by assembling a huge fleet, known as the Spanish Armada.

The English fleet of 200 boats was manned by less
experienced sailors, but their boats were lighter and more
agile than the Spanish ships. The Spanish fleet had a
hard time moving, since it was big and heavy. They tried
to escape, but unfortunately, they encountered a terrible
storm that destroyed the remaining fleet. The defeat of the
Spanish Armada marked the beginning of British power at
sea.
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iBT Practice p.61
1 1

1.(A)  2.Yes:(A), (B), (E)/No: (C), D) 3.(D)
4. (C)

Skin cancer has been steadily increasing in recent years
due to tanning being popular. Although it might look good
on some people, staying in the sun for long periods of time
is not healthy for anyone. Too much tanning will cause the
skin to turn red and become painful, because the blood
vessels expand. The skin really turns brown because it is
protecting itself from the UV rays of the sun. If we tan too
long, then we can easily get skin cancer.

There are two types of skin cancer. One is
non-melanoma. Non-melanoma cancers begin when UV
radiation causes skin cells to form a tumor, while at the
same time preventing our body from detecting the tumor.
The signs of this type of skin cancer are varied. They
include open sores that do not heal; a reddish patch that
doesn’t go away; a smooth, circular growth with a raised

edge; a shiny bump or a pale mark. The cancer is curable
in 95% of patients, and the tumor can be removed by
doctors.

The other type of skin cancer is melanoma. Melanoma
often has the appearance of a mole. It looks like a spilled
ink spot. Melanoma is most likely to appear in persons who
have fair skin, especially if they suffered occasional severe
sunburns as children.

Regardless of the type of skin cancer, both can be fatal
if we don’t treat them quickly. Scientists explain that skin
cancer can be avoided by taking a few precautions.

) They suggest that people wear sunscreen not just for
going to the beach, but on a daily basis. | guess that’s
about it. Tomorrow, we’ll talk about other forms of cancer.
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2. “The signs of this type of skin cancer are varied. They include
open sores that do not heal; a reddish patch that doesn’
t go away; a smooth, circular growth with a raised edge;
a shiny bump or a pale mark.” 0{7|A “this type"2 HISMZ
(non-melanoma)g YZoEZ g2 M. SM. CHm 27(7} o,

Almjet Wml= HISA4E(melanoma)e| SA(0ICt
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Furlher Study p.63

Topic : Skin cancer
® reason : too much tanning

e two types of skin cancer
1. non-melanoma (non-melnm)

— UV radiation : causes skin cells to form a tumor

— open sores / reddish patch / raised edge /
shiny bump / pale mark
2. melnm
— appearance of a mole

— person with fair skin
e both can be fatal if not treated quickly

e precaution : to wear sunscreen on a daily basis

Word Review p.64
1 1

1.(C) 2.(C) 3.(C) 4.(D)

5.inthe longrun 6. conquer

7. overcome 8. mighty
9. agile 10. radiation
11. fatal 12. precaution
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Part B

Attitude

Sample Question p.67
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Recognizing Tone of Voice

[ 1.(4) 2.8 }

: What are you reading, George?

: I am looking for a part-time job.

: Why do you need a job?

. | have to earn some money for the next semester.

£z

: | thought you had a scholarship. Do you have
something to buy?

<

: No. The school decided to stop all the scholarships
from the beginning of the next semester.

=

: I'm sorry to hear that. Why did they decide to do
that?

M: They are building a new library. | guess it’s best for
the school.

: I’'m glad that you have a positive attitude about it.
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M: OfL. efuollM CHS 87| 25 2E Felg2 SHEM. H=XIE = Aol
Wi 1274 O L 9f 224712 Feh? | . —
_ _ ) 2. Our voices are produced by air passing the vocal
M: M EMEES MG B 2 M= ZM01 A Zot, .
i cords in our necks. Well, there can be many other
W2 LIZF2730] oM SE=Q! XIME 7E A CHlo| 7Lt ) . oo
things that affect the voice, but let’s keep it simple
When dinosaurs walked the Earth, there were today. Humans control the vibration of vocal cords to
cockroaches. Even today, there are still many make meaningful sounds. People’s voices change,
cockroaches. Just how have these insects lasted on depending on the size of the vocal cords. Children have
this Earth without changing much of their shape at all? the highest pitched voices, because their vocal cords
The shape of their body is unique. It is very flexible, are small and underdeveloped. Male adults usually have
and allows them to crawl literally anywhere. They can longer vocal cords; hence they have the lowest tone.
also eat any type of food, including rubbish. In fact, Women are in between, as they have mid-sized vocal
cockroaches are the best adapted animal in the world. cords.
Scientists say that cockroaches would be the only 2ajo| 2Az|= 2 oto| MiE Eatst= Z7|of QJsHA MzZICH 1
sunvivors in a nuclear war. i, 4200 §8E S T2 B XS0 UKD, 252 26t o,
SEO0| X|TE Z0f Chd FAloll, B Eall= ZXHHACH. 2=, of ARE2 20IRU= A2IE W] flsh Hoiel E2IS Mojstct AlRE2
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JRE9 58 M= =56lth 242 i |6, & a2 U GHE JIRC JeiM 252 71 H2 SME Z=Ct tkiE2 s
OfC|2tz 7]01Z & UA| shECE IANE2 Xel|7|E Z&s ol EF2 379 QHE 7B, 1 Afojof UC.
Bolate 22 4 QUCh AK, HIFHSS MAIA The S0l B2
S20[Ct. ISIXtE2 v L Shto] of T RSt Holgs A
ol2t ojopr[Btct. Basic Drills p.70
Recognizing Degree of Certainty 1.(D) 2.(B) 3.(A) 4.(B) 5.(C)
6. (D 7.(B 8. (A 9.(C
10 20 } ©) ®) (A) ©)
. . . ) 1. W: Hey, what do you think of the new school logo?
Using computers is getting more common in
) . M: Oh, | saw it, alright. I didn’t think much of it.
schools and offices. Therefore, people are trying to . .
. . W: Me neither. | think we should have voted on a few
learn how to use computers in a short amount of time. .
. . . designs. | haven’t met one person that says they
An effective way to use computers properly is typing
. . . N like it.
quickly. Typing quickly can save working time so that
. . M: That's what | told my teacher. But she said that the
we can use it later for something else. There are a few Hool paid & desi desian it. Besid
ways to improve our typing speed. Chatting with other school paid a design company to design it. Besides,
L . . . they already made the new signboards and printed
people online is a fun way, and playing typing games is i .
. . . new T-shirts with the logo.
another. Typing without watching the keyboard can also )
. . . W: | guess we don’t have a choice. But that doesn’t
be an effective way. The most important thing that you hat I'm h out i
have to do is to find which way is the best for you. mean that F'm happy about it
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Antonio Stradivarius was a master violin maker
from ltaly in the 17th century, and his violins are worth
millions of dollars today. They are expensive because
they sound better than any other violins in the world.
However, many are now saying he was only lucky.
Apparently, the trees in his backyard, which he used for
his violins, just happened to be the best wood to make
violins. | must say | don’t see their point and cannot
agree. It takes more than just great wood to make
beautiful sounding violins.
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During World War II, there was something called
the Holocaust. During this time, over 6 million Jewish
men, women and children died. Hitler and his army, the
Nazis, terrorized and killed as many Jews as they could

from the countries that they invaded, such as Poland
and other parts of Europe. Many of them were packed
into trains that took them to a place called Auschwitz.
There, the poor people were killed by putting them in
gas chambers. It was a horrific piece of history that no
one can or should forget.
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W: Don’t you think that the chairs in our classes are
uncomfortable?

M: Yes, you're right. The chairs are very hard and
uncomfortable.

W: ) It's much worse for me because | have a bad
back. | can’t seem to get comfortable no matter
what | do.

M: | know what you mean. | hate my physics class
because Professor Jackson has very long lectures.

W: That sounds terrible. | think we should write a letter
to the school about it.

M: You're right. Let’s go and do that right now.
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The Underground Railroad is a large part of black
history in America. But unlike the name, it does
not involve trains or stations. It was the name of a
movement in the 1800s to help runaway slaves reach
the northern states, where slavery was banned. In
those days, helping a runaway slave meant big trouble.
Still, freed slaves, like Harriet Tubman, as well as other
non-black Americans, helped many runaway slaves.
Thanks to the Underground Railroad, thousands
of blacks were free, and they, in turn, helped other
runaway slaves. Without the Underground Railroad, the
US might be a very different country today.
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“The Underground Railroad is a large part of black history in
America.” 2t XS0l LIAICE (A), (B), (D)= £ LH8olCt,

black history S019At  runaway oft  ban Zx[sicH

. W: Have you been to India?
: No, I haven’t. | heard that there is nothing to see

<

over there.

W: You heard wrong. | just got back from India. It's a
big country, and there are many things to see and
experience.

<

. Really? What did you see while you were there?

W: | went to the Taj Mahal, and then the Ganges
River. There were so many people, and it was still
very beautiful. After that, | went to a city called
Bangalore. You really should go there too.

M: Yes, | think | should, too. I've not seen you this

happy before.
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George Orwell was the British writer who wrote
Animal Farm. It is an interesting story of how a few
animals chase a bad farmer away and try to run the
farm themselves. In the end, the farm becomes even
worse because of a bad leader. The book is really
talking directly about Russia, and highlighted Stalin’s
mistakes. The Communist system probably became
very unpopular because of the book. It became a
classic, and is great to read at any time.
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S0l “It is an interesting story ..."2t1 31 OX|2t0f “It became
a classic, and is great to read at any time.”0[2}1 ooz &2
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chase away ~2 zoict  Communist system 2AtZE0] &[x|

. W: I don’t know if | should stay in the dorms or if |

should move out.

<

: | think it’s great to stay in the dorms.

W: Why do you think so? It's cheaper to live outside the
campus.

M: ) Think about it. You’re still new in school, aren’t
you?

W: Well, | am still a freshman until the end of the year. |

haven’t made that many friends yet.
. That’s reason enough, don’t you think?
W: | see what you mean. I've gotten a lot of help from

<

my neighbors.
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9. T. What do you think are some easy languages to
learn?

W: That’s easy. | say Chinese, because the largest
number of people use it.

M: Are you sure about that? | don’t think that means
it is easy to learn. Besides, Chinese writing is so
difficult to learn.

T: ) The two of you have a good point. But when |
said language, | meant both spoken and written
forms. | guess | should have been clear on that.

W: Oh. | was only thinking of the spoken form.

<

. In that case, | have no idea what the easiest
language is.
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Listening Practice 1 p.73

[1.(A),(C) 2.(C) 3.8 J

<

<

<

: Hello. How may | help you?
: Hi. I have a few questions about studying abroad. ) |

have been thinking about going abroad for a long time
but can’t make up my mind about where to go.

. Well, have you at least chosen a continent or do you

want to travel the world?

: No ... | want to go to Europe but | just can’t decide

which country. | am wondering if | should go to a
country where | don’t have any problem with the
language or go to a place where | will have to learn the
language.

. Alright. | am guessing that England is one of your

choices. So what are your other choices?

: I know a little French and less Italian. If | chose either

country, | would have to take language courses first.

. What is your major?
: 'lam an English major. But | also have taken a course

on French cinema and one on ltalian art. Since | am

a literature major, | am leaning more towards going to
France and studying French literature.

: That's not a bad idea. | think going to ltaly is a great

idea too, but | want to suggest you go somewhere that
is going to help you with your studies. French literature
is very important and you will benefit if you study it. So,

as hard as French is, it might be worth it.

. Yes, thank you. You really have been a great help.
: Glad to have helped. Take care and let me know of

your decision.
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Listening Practice Z p.75

[1.(D) 2. Yes: (B), (C)/ No: (A), D) 3. (D) }

Violins are popular in classical music, and famous
classical music composers have all used violins in their

music at one time or another. It is considered to be one
of the hardest instruments to play, yet the most beautiful

sounding. Players use a bow made of horsehair, and drag
it on any of the 4 strings. Different tones are made by
pressing the string to the fingerboard with our fingers. So
what makes the violin sound so special?

The first answer might be obvious to some. It is the

overall shape of the violin. The two long f-shaped holes on

each side of the strings allow sound waves to vibrate the
top plate just enough. The holes also limit the sound waves
from escaping too quickly. As a result, the overall shape of

the violin body, the size and placement of the holes are all
highly important in making sure that violins sound beautiful.
i) Since violins rely on vibrating the body, getting the
correct balance of thickness is very important. If the body
is too thick, it will not vibrate properly. On the other hand,

if the bodly is too thin, the sound waves might shake the
body too much and cause unwanted noise, not to mention
a very weak violin. In addition, different wood has different
strength and different vibration characteristics.
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Listening Practice p.77
[ 1. (B) 2. (A) 3. (D) }

Hello, class. Today we are going to talk about a
well known country, Japan. You all know about the big
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electronics giants. What about Japanese carmakers?

Right now, they are world-class, but | can remember a
time when Americans were against buying Japanese cars.
People started campaigns to make people buy cars made
in the USA. Now, things are different. Many Americans own

Japanese cars.

Japan and the US have always had an awkward
relationship. This is so because Americans felt threatened
by the Japanese long ago. This was mainly due to the
sudden attack on Pearl Harbor. During the war, Americans
didn’t trust Japanese-Americans, fearing that they were
spying for Japan.

After World War Il, the US became the most powerful
country in the world. They had won the war and had
become rich through the war. But many things slowed
down the US, such as the Vietnam War. Americans wasted
a lot of money, energy and effort in the Vietnam War. In
the 1980s, Japan emerged as a major superpower with
powerful companies that slowly but surely overtook many
industries.

Americans were desperate to find out the Japanese
formula for success, and in the process also made fun
of them. They ridiculed them as robots who didn’t know
how to enjoy life. It was racist of Americans to characterize

Japanese in such a way.

| see that we don’t have any more time. We will
continue our discussion next week.
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: Hey, Wilma. | got a question for you.
: What is it?
. ) | heard someone mention something about urban

legends. What are they?

: They are short and mostly untrue stories, made to

scare other people.

: Why would anyone want to do that?
: I don’t know what to tell you. But there are many of

them.

: Could you tell me one?
: Sure. Here’s one that | just heard. If you put a human

tooth in a glass, fill it with cola and leave it for one
week, the cola will melt the tooth.

. Yes, isn’t that true? | heard that cola is like acid. It might

even kill us.

: No, it’s not. It’s totally false. Many people tried it, but

no one has managed to do it. Cola is no worse than
normal candy. It can’t even change the color of the
tooth to black.

. Are you serious? That’s news to me. Tell me another

one.
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. Alright. Hmm ...

Did you hear about the alligator living in
the sewers of New York City?

. | think | did. Didn’t they catch a really big alligator down

there? They said it was nearly 5 meters long!

. That’s another false story. Nobody caught any alligator

in the sewers of New York, or any other sewage
system.

: Wow, and | thought all those stories were true. How do

these urban legends spread?

. There are many ways, but the most popular way is,

of course, the internet. People send urban legends
to other friends, thinking that they are real. Soon, the
whole world thinks that a made-up story is real.
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M: Hey, Wilma. | got a question for you.

W: What is it?

M: | heard someone mention something about urban legends.
What are they?
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“There are many ways, but the most popular way is, of

course, the internet” 0|2t Z3ict,
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Forlher Sloudy p.81

Topic : Urban legends
= short and mostly untrue stories

— Purpose : to scare other people

— Examples :
e Putting a human tooth in cola

e Alligator living in the sewers of NY
— How they spread : through the internet

Word Review p.82
I —
1. (D) 2. (A 3. (C) 4.(C)
5. apparently 6. horrific
7. runaway 8. continent
9. literature 10. awkward
11.racist 12. urban
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part G

Organization

Sample Question p.87
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Understanding Relationships

1. (B) 2.Q1. categories
Q2. definition
Q8. examples

1. W: Did you bring your jogging shoes?

<

. Are there special shoes for jogging?
W: Of course. There are many different types of shoes
now.

<

: | don’t understand.

W: Take a look at soccer, for example. They need to
run on grass, right? So they have spikes on their
shoes.

<

. But that’s only one sport. How about others?

W: Oh, there’s more. There are different shoes for
ballet, for instance. | remember another one.
Basketball shoes are very comfortable and light.

M: Now that you mention it, | guess you're right. | think

my shoes are basketball shoes.
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There are literally billions of animals in the world,
including insects and bugs. But we can group them
into three categories, depending on what they eat.
The three groups are called herbivores, carnivores
and omnivores. Herbivores are animals that only eat
plants. Many of these animals have multiple stomachs.
Carnivores are animals that only eat meat. Lions
and tigers are well-known carnivores. Omnivores are
animals that eat both meat and plants. Most humans
are omnivores, although some only eat plants. We call
them vegetarians.
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Understanding Purpose in Organization

1.Q1. (A 2.Q1. (B)
Q2. (D) Q2. (A

W: Did you read Native Son?

M: No, what is it?

W: It’s an American classic. A very famous
African-American named Richard Wright wrote the
book.

: What kind of person was he?

<

W: His grandparents were slaves. He wanted to tell
the world that it was hard living in America as an
African-American.

<

: So how did he get famous?

W: He participated in a story writing competition. He
wrote many short stories and sent them in. Most of
his stories are classics even today.
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2. Gilbert Stuart is a famous American painter. He
painted people’s faces very well. He used good
brushwork and bright colors in his paintings. His most
famous painting is the head of George Washington.

Now, Gilbert’s life was unusual. He was born in
America, and later he studied in London. After 6 years,
he came back and opened a gallery. It was successful,
but he wasted his money away in just 5 years. He went
to Ireland and came back to America when he was 41
years old. Only then did he become America’s most
famous portrait painter.
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Basic Drills p.90

1.8) 2.(0) 3.0 4.(C) 5.(A
6.(A) 7.(C) 8D  9.(0

£ <=

. I learned about symbiosis today.

: What's that?

. It's where different animals help each other, like
partners. Take a look at alligators. Have you seen
one before?

: Sure. I've seen them on television.

=<

: Well, do you remember seeing birds around
alligators? They help each other.
M: How can such small animals help such big and

mean animals?
W: When alligators open their mouth, the birds eat the
food between their teeth.

<

: And the alligator doesn’t eat the bird?
W: No. The birds are so helpful that the alligators only
protect the birds.
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Computers are one of the most important machines
that we use today. They are everywhere. However,
computers were not popular in the beginning.

Long ago, computers were big and expensive
calculators. Then, people started using them to store
information. They used an old punch card system
instead of keyboards. As computers started getting
cheaper, many companies started buying them for their
business. Soon, computers were used to make video
games. Finally, computers were cheap enough for
many people to buy and use at home.
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The concept of business is really easier than what
people think. We will talk about how the prices of
things are determined. It all depends on two things
called supply and demand. Supply is controlled by the
companies. Demand is controlled by the buyers. We
can draw them on a graph. When these two lines meet
on the graph, the price is chosen. Popular products
have a high demand, so prices rise.
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. W: Did you go to sleep last night?
. No, I didn’t. | stayed up all night studying for the
history test.

<

W: Me too. | think everyone is worried about the test.

| have trouble remembering the names of old
Egyptian kings.

M: What do you mean, Egyptian kings? Rebecca told

me that the test will be about England.

W: Oh, | think you heard it wrong. Mr. Green reminded
us to remember the Egyptian names for the test.
You know, like King Tutankhamen.

: Oh, no. I am in so much trouble now.
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Every child in the world goes to school. But the
opening season of school can be a little different. For
instance, students in US schools start a new school
year in September, after the summer holiday. But
Korean students start a new school year in March,
after the winter holiday. The holidays are also longer
just before the start of the new school year. Korean
students rest longer during winter, and US students
rest more in the summer.
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. T: Everyone knows petroleum is energy. But does

anyone know other types of energy?

W: Yes, my calculator runs on solar power.

M: What's that?

W: It means that it gets power from the sun and not
from batteries.

T: That'’s right. The calculator has a small panel called
a solar cell. The cell converts light into energy.

M: That'’s great. It means free energy.

T. Well, yes, it's free. Unfortunately, solar cells are very
expensive. They also take time to make power. But
one day, we might use light as energy more than
petroleum.
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. W: How do speakers make noise?

M: That’s easy. Music is electrical signals. The audio
amplifiers change music to electric signals. This
goes to the speaker’s voice coil. They are really just
wires in circles. Electricity passes from one end to
the other end.

W: Then what happens?

<

: The magnets will push and pull on the voice coll,
depending on the electric signal.

W: So is that sound?

. Yes, sort of. The voice coil is on the speaker cone.

<

The cones move very quickly and push the air.
Moving air quickly makes sound.
W: Wow, that’s so interesting!
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Spiders live in many different places around the
world. There are even spiders that live under water. The

water spider or the diving bell spider builds a house
under water. Their house looks like a bell, and the
spider brings fresh air into the house by trapping air
between the hairs on its body.

The spider sits in the bell-shaped house, looking for
food. When the spider catches food, the spider brings
food back to the bell and eats in the house. They don’t
need to come up to the surface much at all!
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. T: Writing a diary on the internet, or blogging, is a

popular activity. How many have a blog?
W: I do. | write in it every day. | share my blog with
many people.
: 1 don't like blogs. | think they are silly.
W: Why? There’s nothing wrong with expressing

<

ourselves.

M: It’s not people expressing themselves that bothers
me.

T. Then what don’t you like about blogging?

M: Well, it gives me the feeling that | am checking up
on other people.

W: Don't be silly. People write on blogs because they
want others to see.

M: Still, you don’t know who is looking at your blogs.

T. You have a point. Some people do not like writing
blogs because it takes away their privacy.
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Listening Practice L p.93

<

=<

?é?i

: Did you get a locker this semester?
. Yes, | did. I got a half-sized locker.

. Me, too. Which floor is your locker on?
: Itis on the second floor. Why do you ask?
. I asked for a locker about two months ago, but | got a

locker on the 5" floor.

: So what’s wrong with that?
. All my classes this semester are on the ground floor. It’ll

be a problem because | hurt my legs last month. | can’t
walk up the stairs all the time.

. Oh, that’s terrible. Did you complain to the school?

. Of course | did, but they said there was nothing that

they could do. All the lockers are full. I'll have to wait for
the next semester.

: Oh, that is terrible. Oh, wait a minute. | have many

classes on the 4" floor. Do you want to change lockers?

: Wow, that’s a great idea! Are you alright with that?
: Sure, | don’t mind it at all. Let’s go and do it now while

we have time.

. Thanks so much. You're the best!

I:
DS, A L= B 27| AEE UL,

L0k Ul AREE2 2 30l U017

2501 0. of 2=d?

T 2L Mol ArEEt MEE 3=l 5500 s AFEEE B0l
I A7 ERRE?

[t 37| £+¢12 T& Cf 150[2 Zolof. a7 2

x|t ol 2l TH7iE. d AlES 2212 4= 201,
OL TRIGICE. Stwol|ch A2 sHE017?

O30 2S0] & 4 U= A0 YHBICH 2= AEEo| o

3%??

=

i,
%5—!7| JFR| 7|Et2{oF & 4o
o BRG], 2, 713 A0iEL Li= 45 0] B2l AESES

M: 2t O E2 4zo|ct J2h= HEor?
fASHA|, L= #EOL XIZ AlZE US M 7HM SHAY.

oo {,—H *él X
1. gxk= HEIE CH T ¢o| 25 1501M 0|R20{X|7] 20 H2 Sof
RISt AFZ 80| sttt J2{Lt "Ate] AFEE0] 5501 U0 A7t
ch.

OII

2. Gt xpelel E2XME Lokt 0iXk="Do you want to change
lockers?"2t1 S0{T FA| XtAIQ| ALSEIt EXIO| AFE &S HHEAY

o st

3. EAPtCI2IE Ol A LSt olfe Ao MEE & HFst| fl6iA
o[ct. ot EXto| £0| 2F 150|A R0 AFEEH0| 550 Uch=
A0t LRCHH ofxts J2| 2 2X2t MZ5HK| 2*SX| 22 "Xt
7t CI2IE CHEl A2 EXE7L Six Ast 2HQ 2 IS S R[S

ground floor 1 | dontmind #&ot2 not at all s

Listening Practice Z p.95

[ 1. (A) 2.(C) 3. (A), (C) }

All'living things in this world have children, or what

are called offspring. Plants also have offspring, but unlike
animals, do not have mobility. Mobility means the ability to

move around. Plants have roots that are buried deep in the
ground. But the plants still need to share their pollen or get
their seeds far away. So instead of moving around, plants

use insects and animals to help them.
Some plants use bees to help them share with other
plants. They attract bees and other insects by sharing

sweet liquid called nectar. When the bees sit on the flower
to get the nectar, the pollen sticks on the bees’ legs. The
bees then look for another flower for nectar. Some pollen
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will drop off, and new pollen will stick on their legs. This is
why most bees have yellow legs.

Some fruit plants rely on big furry animals to spread
their seeds. They have seeds that have little hooks. They
attach to the fur of animals when they pass by the plant.

Later, the animal will shake the seed off. This way, the seed
will have traveled very far.
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Listening Practice p.97
[ 1. (C) 2. (D) 3. (B) }

M: My science teacher told us that cows have four
stomachs. Is that true? | can’t believe it.

W: Of course. A lot of animals that only eat vegetables

<

<

<

have multiple stomachs.

: Allot? What other animals have so many stomachs?
: Well, animals in the cow family all have four stomachs.

The ox and buffalo both have many stomachs. Even

deer have many stomachs.

: Why do they need to have so many stomachs?
. Plants and grass have very little energy. They need

different stomachs to absorb as much energy as they
can when they digest food.

: This all sounds fascinating. But are they the only

animals with many stomachs?

: Oh, | remember another animal. Camels also have

many stomachs. They need them to digest thorny food.

: Thorny food? What do you mean?
: They eat sticks and dry branches. Their stomachs can

digest them easily.

. It sounds like animals waste a lot of time just eating a

meal. They must get so tired.

: Oh, I'm sure that the animals are used to eating that

way.
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iBT Practice p-99
1 1
1. (C) 2. Yes: (B), (D) / No: (A), (C)

3. (A) 4. (C)

During World War II, Hitler's army from Germany flew
towards Britain. They thought nobody knew that they were
coming. But when they got there, Britain was ready to
fight. The shocked Germans flew back. How did the British
know that the Germans were coming? The answer is radar.

Radar is actually a two-part system. One machine,
called the transmitter, sends powerful radio waves into
the sky. The radio waves can go very far and fast, until
they bounce off objects. The objects are usually planes,
helicopters and missiles. Clouds are water vapor, so radars
do not detect them. The waves fly back to something
called a receiver. The receiver looks like a very big dish.
The reason why the dish is so big is because the bounced
signal can be very weak. The farther away the plane, the
weaker the signal will be when it comes back to the dish.

Radars are now used in a lot of places, not just for
planes. Even police use radar to check cars on the road.
Radar guns can tell us how fast we are going. Scientists
use radars to study space. There are even radar telescopes
that are much more powerful than normal telescopes.

It is interesting to note that the radar systems in airports
are a little different. They are not true radar systems
because they do not have transmitters. The transmitters
are on the planes. In fact, every commercial plane in the
world must have a transmitter. Airports only have receivers
in their systems. Therefore, if the airplane switches off the
transmitter, the radar system computer cannot see the
plane.

m|o
rlo
=
o
A
[y
N
n
=
0
3Q
o
U
o
I 3
rUS
rlo
m
\.I
i
_!1
[
U
jinl

=Sl
EES e

=l
inl
—Ll
Oju
o my
4> 4>
oM
AN
§
o
H1J
la=}
§
_I_
Ir
>§
In
fjo

7tH 2| AS+E, BA

e Z20|M XSAIE &

2| 270|T YUK

A gF2 SLTS0| 21 Utk AS L 4 UAASW? FEH2 dlolHo]

EiIOI 15 A = BE2o=2 E AAH0|CH 4|2k R2= 8 7A7t

£ Hit= X0 fXA Atetsty| x| ofF ¢
UL 2 SHS2 HRE 17|, 2IFH, J2|1 0AS
EIXISHA| 4=t Fih= a4

=
A= O 2 FAIME MZACH

2olets @5l

i
|o ne D“
il
A
0

= t

£ AT MXlo] S0 YHFLEC N ZEet jo|r YHEE ULt
S| Zo|H AlAR2 =F ChEChs A2 S0|22 Aot OS2

SAU717L 27| whZoll, N 2f|ofc] A|AR]0] OfL|Tt, S4171= IR [off ZEf

Z[0] T A, MIAQl RE d¥ &571E 471 RfH0t Blitt. 39

AL = 447(2F UT 322, 7|71 47| MES RIESHH,

0|Cf AIAES| HREIE HI™I|E & 47t 8Tt

1.

X -E;H Aéi X

“But when they got there, Britain was ready to fight. The

Shocked Germans flew back” 2t £H3| Z3ict,

A717h u Qltks As AXE 4
+ i 271= go| #of. 2fo|He
A AfA7|= 2ol ofEZ H

HEA
at
= 0|&50] Bp&x

17

390
> 32
S
mr s
|'II I'|O

a7}

=)

*L;f—b
el

LRI
S

s gAlsle
717t Eolct,

ZYUROIM BiXtE SLZO| MAAIHEO|0F7 S 5t S0|§ FEsia
O

0| AlZtoll CHE FHIQ! 2i|0|TE ATHRICY,

I'

2ol M S 2ol AJA—DE TN 2fo|H AlA-C| 28t Xt0]
HE5H QAT M2 tZEAIZ|7] ffsh S 2ilo|e AJA=ol| o
g

6H|.

AR

apx|et
Zoil chah
k7

gtolo
ot

radar 2(0|; HmErX|7|
bounce off 255 Atztsict

transmitter £417| radio wave Fuf

object 2x| water vapor £=7|

receiver 4417 normal E£9| mH5t  commercial Aol

A36 M TOEFL LISTENING



part G
Furlher Sludy p.101

Topic : Radar
* Two-part system = transmitter + receiver

1. transmitter Connecting Content

— send powerful radio waves into the sky

=» bounce off objects = fly back to a receiver
2. receiver = very big dish to receive weak signal

*Use of radar Sample Question p.105
e planes o
. M: HQl, U HZst S=tK|, of J24?
¢ police : check cars — radar guns
" W: 8., ot of 2= 7dl?
e scientists : study space - radar telescopes )
. o . M: ol oA MoF Sh=d, Ul7t LIS 2= Z2001.
e airports : only have receivers, transmitters are on
- W J3X| &, 2 L1 Ho?
planes 3 _ _
— M: EAofl St oFFA10[H =Y. &t Aol Z{A=0l, =20] OF =Tzt
Wi S42 ofuf? ENYACIA K<Y 2 &Adolof. OFF HM, XITE ZESHEf
A9 LIHX| 8702 gi-+do| Ct S01Z Heata.
Word Review p.102 M: of 2 HE2 2 XlE S20f. 240l chalM CH2 S0122 A g?
! ! W: SH2 63712 &S #1 0. of, SHE2 Ao 7tAY & = StLtof.
1.(A) 2.(A 3.(A) 4. (D) M: of 22 Baedy?
5. supply 6. solar W A

SIRIS2 2%0] 7HAR 1S & Uch, TAC! 2A EB glol. AZo|
ni

7. offspring 8. multiple gd

) M: J2f, Z2estJ Eot o #o| o 2 Zotk 2FAM 1ok
9. digest 10. normal

11. object 12. commercial

Connecting Content in Comparison

1. Notebook: easier to carry to class
Desktop: can’t type fast

1. W: Can you help me out for a minute? | can’t decide
whether to buy a notebook computer or a desktop
computer.

M: Sure. Do you plan to use the computer in your
room?

W: | would say a fair bit. But I also want to take it to
class to take notes.

M: Well, notebook computers are easier to carry than
desktops. But do you type quickly?

W: No, | type very slowly. | don’t know how to use all of
my fingers.

M: Then don’t waste your time with notebook
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W:

computers. | think you should buy a desktop
computer.

. Alright. Thanks!
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: I'm thinking about taking up a sport.

: That's good. What did you have in mind?
. I am interested in kickboxing and boxing.
. Aren’t they the same?

No, they are very different. Boxing only uses the
hands. Kickboxers can use their hands, legs, knees
and elbows.

: Oh, so the rules of the game are very different?
. That’s right. They are completely different sports.
. It sounds interesting. Maybe | should join too.
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Connecting Content in Process

<

1.(A), (D), (B), (C) 2.(B), (C), (A) J
. M: Can you tell me how to get to the main building?

W: Sure. Are you in a hurry, or do you like walking?

M: I'm not in a hurry. | like walking.

W: Walk down this road until you reach a junction. Turn

right and walk up all the way to the end of the hill.
You'll see the main tower about another 10 minutes
away.

: | changed my mind. | don’t want to walk that far.
. Alright. You can wait for the shuttle bus here. It

comes around very often.

M: Thank you.

M: 28 AZZ €A 7t=X & LHFAZR?
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2. Before there was the internet, companies only had
phones to send and receive messages.

It was the only way to get in contact with people.
Then, a typewriter system called the telex was
introduced. It looked like a normal typewriter. However,
it sent typed messages through the telephone lines.
The receiving telex machine would type the message
out automatically. Finally, many companies started using
fax machines during the '80s. They still used telephone
lines, but they could also send pictures to other fax
machines. In fact, companies still use fax machines
today. They play a big role in companies, sending and
receiving important documents to one another.
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Basic Drills p.108

e 1

1. Yes: (A), (C)/No: (B), (D) 2. (A)-(B)-(C)-(D)

3. Warm-Blooded: (A) / Cold-Blooded: (B), (C), (D)
4. Computer Systems: (A), (C) / Business IT: (B), (D)
5. Yes: (A), (C) / No: (B), (D)

6. Yes: (B), (D) / No: (A), (C)

7. (B)-(D)-(C)-(A) 8. Yes: (B), (D) / No: (A), (C)
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L 9. Seahorses: (B), (C), (D) / Other animals: (A) J

1. W: I think | am going to drop math. It’s getting too hard

for me. | can’t understand what is going on.

M: | think you’re mistaken. You can’t drop math. That’s
a required subject. You cannot drop all the subjects
that you want.

W: What do you mean? | thought we could quit any 2
subjects that we wanted.

M: Yes, but not some subjects, such as English, math
and science.

W: Are you kidding? | can’t continue learning math. It's
too difficult.

W: 48 49] FA S}t LBt B o of2i9/K. 27t ol sln
ol 21x] 220f

M: LES U7 IR 1215t 21 200} 2512 HASH 471 910, T4 112
OOt RISt 2L Cf HAE £ irtn
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o
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W: EUROR? 4512 ©f 2 BHSZ0. LS OfEIEt Zojof

OS2 4300 0219 £YHAS Tefstn YR, S DS HR
0I5t UCH HOI, 43, TS FA} 2IH5 T4 HRS0|C

Countries around the world need something called
petroleum. We need it in cars and buses. So where do
we get petroleum?

The first step is to get something called crude oil.
We pump it from the ground. Then, we boil the oil
slowly, so it will not catch fire. Special machines collect
the gas from the boiling oil. The gas is cooled and
turned into liquid. Finally, companies deliver the liquid
to petrol stations around the world. The liquid can be a
few types, such as petrol or diesel.
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Humans have a body temperature that does not
change very much. This is because humans and most
mammals are warm-blooded animals. There are also
many cold-blooded animals. Reptiles, such as snakes
and lizards, are cold-blooded animals. Their body
temperature can be very different. When cold-blooded
animals are in a cold area, their body temperature
becomes the same temperature with the outside.
Therefore, they need to sit in the sun for a long time to
get a warmer temperature in their body.
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. W: Have you decided on a major yet?

<

: No, not yet. | still can’t decide whether to study

computer systems or business IT.

W: They sound pretty similar. Is there a big difference
between the two majors?

M: Yes, there is a big difference. Students that major
in computer systems learn a lot about computer
networks and different hardware.

W: How about business IT students?

<

. They learn a lot more about economics,
management and accounting.
W: Both sound like interesting majors. | hope you make
the right decision.
M: | hope so, too.
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Everyone is talking about how to be healthy. People
are trying to lose weight and eat well-being foods. But
before we simply buy any well-being food that we see,
we should always learn about it before trying it. We
need to control our food slowly. Being healthy does not
mean losing weight all of a sudden. We also need to
start exercising bit by bit. It can be very dangerous to
have a sudden change in our body or daily life.
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The Amazon River is the second longest river in the
world. It also gets a lot of rainfall. This is why it holds
the largest amount of water in one place. However,
the Amazon has recently been facing droughts. A lot
of fish and animals have been dying because of the
disappearing water. This is a very big problem, as
many people depend on the waters of the Amazon.
Scientists do not really know why this is happening, but
they suspect global warming and pollution are the main
problems.

OfOFE Z2 MIAIOIM & Bz 71 Zo|ct 77]0ll= HI= #0| LHE
Ch. Ol= Z2d0] 8t 2olM 7HY B2 £&2 KL= 0|F/0|Ct 2Lt Of

OrE2 2200 7t=0il Alg2 Qlct 20| AKX 7| tzol B2 =2
1719 S2S0| F1 ULk 0|2 ©2 ARRES0| ofakES| 20f 2lEst

Holct. SIXtS2 off ol Lol LASH=XI0f CHahA

=
A DXt RYQIOZ K| 250 QES TROIOZ OASiTt

MO

oo {,—H *él X
OfDRE Z2 MAOIM 22 71 Zoln, 20| 7+e H2 Z0l7|x 5t
Ch. zl2of ofotE Zo| 7k=0il AlFaln A=dl, B2 AMEHS0| 2201 2

Zot 7| thzoll 0 2 2HEE Z2lolM g=(0] At

drought 7= suspect elAlsict  global warming |7 24tst
pollution @&

Cavemen drew on walls with branches. They dipped
the branch into the ink and painted. In the middle ages,
people used big feathers called quills. People cut and
shaped the thick end of the feather. They were still not
pens, because people still had to carry ink separately.

Then, the fountain pen was born. This time, the ink
was inside the pen. But this was also a problem. The
ink often leaked or dried up. Thankfully, the ballpoint
pen changed all that. It had a metal ball on the tip of
the pen. The ink did not dry up or leak. People could
use it easily.
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Colors, shapes and sounds around us can make
a big difference in our minds. Let’s take an example
of fast food restaurants. In most fast food restaurants,
the common colors on their logo and inside of their
restaurants are red, yellow and white. This is because

A4(Q M TOEFL LISTENING



many people feel hungry when they see those colors.
The seats and tables are rounded. Round seats

are uncomfortable. Finally, the music in fast food
restaurants is upbeat. They play fast and exciting music
so that people will eat quickly and leave.
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Seahorses do not look like most other animals. In
fact, there are many differences between seahorses
and other animals. But the biggest difference is how
male seahorses take care of their children.

Most male animals eat or sleep while mothers take
care of the children. However, male seahorses are
always around their children. They always look around
for danger. They do not even eat while taking care of
their offspring. The male seahorse has a pouch at the
bottom of his body. The babies swim and hide inside
the pouch if there is danger.
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Listening Practice L p.AM

1. (C) 2. (B)
3. Uri Geller: (A), (D) / James Randi: (B), (C)

There are many people around the world that claim to
have certain powers of the mind. Sometimes they insist
that they can do supernatural things, like bending spoons
simply by using their mind or making things float in the air.

But it is unclear if special mind powers really exist.

Uri Geller is one of the most famous people that claim
to have supernatural powers. He showed off his power on
television, and the whole world quickly heard about him.
He bent spoons and fixed watches on television to show
the strength of his mind power. After watching his show,
most people thought that he really had great mind powers.
He soon traveled around the world to show off his powers
and tell people about the power of the mind. However,
there were some people that did not believe in his powers.

James Randi was a famous magician. Unlike Uri, James
tried to show everyone that there is no such thing as mind
power. He came on television many times to tell everyone
that mind power is not real. He claimed on television that
he would give $1 million to anyone who can prove that they
have supernatural powers. He first offered it in the 1970s,
but nobody has won the money. Randi and Uri continue to
argue with each other and try to prove each other wrong.
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Listening Practice 2 p.113

[1.(0) 2.(B) 3. Yes: (A), (C)/No: (B), D) }

T. Modern doctors go through many years of studies and

testing. When they are finished, they take something
called the Hippocratic Oath. Hippocrates made the
oath for doctors to take before they became doctors.

W: Who's Hippocrates?

T. Hippocrates was a famous Greek philosopher. Many
call him the father of modern medicine. He taught many
people about helping sick people get better.

M: So why must doctors take the oath?

T. The oath basically states that doctors should do
everything to help sick people, and make them
comfortable.

M: | think that’s a great oath. Do doctors still take the
Hippocratic Oath?

T. Of course they do. It changes bit by bit as the years go
by, but the overall meaning is still the same. However,
not all doctors take the oath.

W: Really? What kinds of doctors do not take the oath?

T. Veterinarians, for example. They only treat and heal
pets or animals. So they do not need to take the oath.
Apparently, the oath is only valid for humans.

W: That’s strange. Pets also need the love and care of
doctors. | heard that pet medicine and human medicine
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are the same.
Well, the oath is really a formality. When a person
becomes any sort of doctor, they will naturally help

others in the best way that they can.
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Listening Practice 3 p.115

1.D) 2.(B) 3. Yes: (B), (C)/No: (A), (D) }
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: Do you know of any vehicle that can travel by air, water

and land?

. I don’t think that there’s any vehicle that can use all

three surfaces. It can’t be a boat, plane, or a car.

: You're right. It's none of the three. But there is

something called a hovercraft that can really travel on
all three.

: What’s a hovercraft?
. Hovercrafts are vehicles that use airpower to float just

above the surface. They have very powerful fans that
blow air underneath the hovercratft. It looks like a car,

but it doesn’t have wheels.

: What does it have instead?

. 0 It has something called an air skirt. It keeps the

air underneath the hovercraft. When running, the
hovercraft is sitting on a layer of air.

. So what is that good for?
. Are you kidding? It means that it can go on water or

land without a problem.

. That is amazing, | must say. But why don’t we see a lot

of hovercrafts around?

. There are a few reasons. Hovercrafts turn and stop very

gently, I mean very slowly. They are also very noisy and

vibrate a lot. Still, they are good for some things. Until

the Channel Tunnel was built in Europe, big hovercrafts
used to carry many people across the English Channel.
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2.0 3.(MDO)  4D-B)-A-C) }
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How do you think companies test their medicine?
I’m not very sure. Don’t they make the medicine and
just sell it?

. | heard that they test it on animals first.

You're partly right. Medicine companies do test their
medicine on animals first. Most of them use mice. But
that’s not the end.

: What do you mean? If the animal is safe, then can’t

humans take the medicine?
Well, many think that animal testing is the end. But
medicine is actually tested even on humans.

: Wow, isn’t that dangerous?

Of course, there is some danger. But since the
medicines are safe on animals, humans are usually safe
too.

: So how do humans test the medicine?

[t's a very simple process. Doctors choose about 100
people in hospitals. Then, they give half of them the real
medicine, and half of them fake medicine.

: What do you mean by fake medicine?

Pills that do not really contain any medicine. Then,

A43
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they study the people for a couple of years. When the
results get back, they will know if the medicine was an
effective medicine.

: Why do they give half the people fake medicine?

Some people take fake medicine and think they are
getting better. It’s called a placebo effect. They feel
better because they think that the medicine works.

. So how will we know if the medicine is effective?

The medicine must be effective to people who took
the real medicine. If the number is similar to people
who took the fake medicine, then the medicine is not
effective.

. Wow, that’s a simple process.

Yes, it is a rather simple process, but the only problem
is that it takes a lot of time, and it is expensive.
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Topic : Medicine Testing
e first, animals = then, humans
— some danger but usually safe
* Testing Process on humans
half, real medicine
e choose 100 = VS.
half, fake medicine

- results

e reasons for fake medicine
— psych. problem, “placebo effect”
e effective medicine
— people took real medicine > fake medicine
e simple process, but takes time and is expensive
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Word Review
1

1. (B) 2. (D)
5. bend

7. show off

9. valid

11.surface

p.120
I
3. (A) 4. (D)
6. float
8. oath
10. formality
12. fake

part G

Inference

Sample Question p.123
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Shaolin is a form of martial arts from a temple in
China. It is considered to be the oldest form of martial
art in human history. It was made by a group of monks
that wanted to protect themselves from invaders. It
follows the movements of animals and reptiles. The
movement looks gentle but is, in fact, very effective
because it targets the weakest points of the human
body. People still practice shaolin, and it is even
spreading into the western world.
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W: We learned about Mt. Rushmore today. It was more
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interesting than | thought.

. Really? Tell me about it. | only know that it has the

faces of four US presidents.

. Well, people do not realize how big the faces really

are.

: How big are they?
. The nose of Abraham Lincoln is about 2 meters.

That is taller than you.

: Wow, that is huge.
. Yes, and it took over 14 years to complete the four

faces. Since the faces were so big, they even used
dynamite.
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Gathering Information

[ 1. (A)

2. (A), (B), (C) J

1. W:

M:

=

Sz E

Why can’t we borrow more than 5 books from the
library? | need more to finish my assignment.
Calm down. Why do you need so many books
anyway?

: I'm writing an essay for English literature, and a

report about shooting stars.

- Wow, that’s going to be tough. So how many more

books do you need to borrow?

. | really need to borrow 2 more books on Edgar Allan

Poe.

. Hmm, let me help you, then. | can borrow 4 more

books from the library. Just remember to return
them on time. You know how expensive the fine is
for late returns.
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Most think that a bird’s nest is made of leaves and

branches. But a swallow’s nest is different. The birds
use their saliva to build their nest. The saliva hardens

like cement. The nests are usually found on cave walls

and look like small cups. Nest hunters have to climb
very high in order to get the nests. It is a very hard
and dangerous job. This is why the nests are rare and

expensive.
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5. (C)

1.

Hydrogen is the most common element because
it is a part of water. This is why scientists work hard
to separate it from water and use it as energy. The
most popular forms of energy are petroleum and gas.
These forms of energy are produced easily compared
to hydrogen, but they cause air pollution. Once we

can find easier ways to produce hydrogen from water,

air pollution from cars and buses will be a thing of the

past.
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2. W:

I’'m going on a field trip for the weekend in
astronomy class. | remember that you said you were
interested in going.

: Oh, yes. | really want to go, but | think | have to

meet with the members of my music club.

: That’s a pity. We are planning to go to the

planetarium, and then see the stars at night.

. That sounds wonderful. Tell you what, | will call

them and push the meeting to another day.
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3. W
: What's wrong?

<

= <

<

===z =2

=

I’'m so tired. | was awake the whole night.

: I have a chemistry test in the afternoon. I’'m so

nervous that | can’t remember what | studied.

: Do you always get tense before an exam?
: I think | do. Do you know how | might be able to

relax?

. As a matter of fact, | have a book that can help you.

It's about stress relief. Let me go get it for you.

: Thanks. I'll return it when I’'m done with the book.

HE mlal, AN THI AACH 7t

7t ZHI?

220f 25t ARO[ 0], 2| UF 2ZciM SRIUE 2 J|es
X otzof.

AR THolls & 2EsH?

T 2 2ot ofEA sl IS E 4 A=K Lol?

A2, Hetel =30] ZErst 2ol oF B ULl AEHA 2stof
tifet 4ok, 7EM ZEMEE 2.

El
=]
4o
2
o
o
[0
g
i
o
THA
)

X G—H Aél X

“... I have a book that can help you. Let me go get it for you.”
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: May | borrow your bike?

W: Of course you can. It’s downstairs. Mine is the blue
one. What do you need it for, though? You live in
the dormitory.

M: It's because of my classes. | only have five minutes
to get to the next class, but it takes me more than
that.

W: Oh, | know what you mean. | got an idea. Feel free
to use my bike except on the weekends.

M: Really? Thank you so much.
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Biscuits and potato chips are always in airtight
bags. There are good reasons for this. {3 The most
obvious one is so that they do not fall out of the bag.
But another reason is to keep the food fresh as long
as possible. Bacteria need air to make food go bad,
so preventing fresh air from going into the packet can
extend freshness. Also, a bag full of air stops the potato
chips and biscuits inside from breaking.
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People are sensitive to smell. Smell can even make
a person seem attractive. As a result, many people use
perfumes. But what goes into perfumes? Long ago,
perfumes were made of all natural things. This included
parts of animal scents and flower oils. The animal
scents mostly came from male deer or big whales. But
people who were allergic to these animals couldn’t use
the perfumes. Therefore, companies now mix chemicals
to make perfumes smell great.
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W: | just bought a new history book from the university
website.

M: | don’t trust the internet with money. | heard that a
lot of bad people steal your money.

W: That’s old news. Most people shop on the internet.
It's very safe now. Besides, it's so much easier to
shop on the internet than to go to shops and waste
time.

M: Really? Maybe it’s time | started trusting the internet.

9.

I'll give it a try tonight.
W: Good for you.
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SUVs are large sized cars that people enjoy driving
around on roads. People drive them because they feel
safe and comfortable in these cars. But there has been
talk about banning SUVs on the road, as some people
think they are too dangerous. When smaller cars are
involved in accidents with SUVs, the smaller cars suffer
a lot of damage. In fact, much of the damage could
be avoided if SUVs weren’t so large. As a solution, car
companies are looking into making SUVs that cause
less damage to other cars in crashes.
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Lord of the Flies is the name of a very famous book.
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It was written by William Golding, who won the Nobel
Prize in literature for the book. The book talks about

a group of boys on an island. They soon part into two
groups, and one of them turns violent and vicious. The
book is really telling us how humans can change when
left alone. The book won a Nobel Prize, and many
schools use this book in English literature classes.
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[

1.0) 2.(B) 3.Yes: (A), (D)/No: (B), (C) J

M

W

. I have to write a long essay about an emergency rescue

service. It can’t be about fire, rescue, police or the
ambulance. | don’t know any more than those. Can you

help me out?
: Sure. Let me see ... Well, there’s the coast guard. I'm

sure that you would have a lot to write about.

M: What can | write about them? | don’t know anything

W

about them, except that their uniform is red and white.
. There are so many things you can write about. They

have the same power and work as police officers on

the streets do. They catch bad people, make sure that

there’s no trouble, and so on. The big difference is that
they patrol the sea.

M: Is that all? Then there’s not much difference between

W

police officers on the street and on the sea.

: No, coast guards are also like lifeguards on beaches
and swimming pools. They train very hard to rescue
people in the water. They must always be healthy, and
even learn to swim in the sea during dangerous storms.

M: Wow, they are more interesting than | thought. How

wrong | was. | think I'll write about them after | find out
more about them in the library. Thanks for helping me
out.
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[1.(5),(0) 2.(0) 3.(A }

The early 1900s saw a big advancement in air travel.
Soon after the Wright brothers performed their first flight,
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people started inventing new ways to fly. Many tried to
make flying aircraft, but an airship called the Zeppelin was
the most popular aircraft during the early years of flight.
The Zeppelin was like a floating balloon. It had a very
large tube at the top, filled with hydrogen. Hydrogen was
used because it was much lighter than air. So, like helium

balloons, the Zeppelin floated easily. Small propellers were

used to change direction of the airship.
The benefits of Zeppelins seemed endless. The

passenger compartment was below the tube, and although
it was very slow, it was very quiet and stable. Planes during
that time were very expensive. On the other hand, people
could travel in Zeppelins for a very cheap price. However,
the Zeppelins could not carry as much weight as other

planes. Regardless, during both World Wars, the Germans

used the Zeppelins as spy planes and to carry bombs.
Unfortunately, the Zeppelins had a sad and quick

ending. A very large Zeppelin called the Hindenburg

crashed and burned very quickly, due to the dangerous

hydrogen in the big tubes. The accident happened on

a trip to the US, and it killed hundreds of people. It was

the last Zeppelin to carry many people at once. There

are still a handful of airships around today, but only for

advertisements.
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[1.(5) 2.(C) 3.(0) }

W: Hey, Derek. | need to ask you about a few things.

M: Sure. How can | help?

W: | remember that you used to work for the school
newspaper for some time. Was it good working there?

M: Yes, it was a lot of fun. It's a pity | had to quit because
of my studies, because | would still love to do it.

W: Good. | asked you because I’'m thinking of getting into
the school newspaper myself.

M: That’s great. | really encourage you to try it.

W: Yes, but as you know, I'm a first year student, and |
don’t know if | am qualified.

M: | didn’t think about that. | was a second year student,
so | can’t say if it’s possible or not. You'll have to ask
the editor-in-chief about it first. But personally, | don’t
see why first year students can’t become reporters.

W: I’'m glad to hear about it, thanks. Oh, could | ask you
another question?

M: Of course you can. What else would you like to know?
W: Must | sit through a test before | can work there? | want
to be prepared for anything that | might have to do.

M: Yes, the editors will test your writing skills. When you
pass that, then you will be tested on speaking. That'’s all

| can remember. Then, if your results are good enough,
you’ll be hired as a junior reporter. | suggest that you go
and meet with the editor-in-chief.
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: Thanks a lot. | think I'll do that right now.
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1 1

1. (A) 2. (A) 3. (B), (D) 4. (B) }

Hello. Today we are going to talk about a famous
European figure as a great soldier, general and fierce

leader. Do you have any idea whom | am talking about?

: Hmmm ... Are you talking about Napoleon?

Yes. As you know, Napoleon was a French general. He
was not from royalty, and he wasn’t even French. He
was born in Corsica, a little island off the coast of Italy,
and the French invaded the island and made it part of
France. His family was poor, but the father was able to
go to Paris and see the beauty of the city. He wanted
his son Napoleon to succeed and managed to get him
enrolled in an excellent school in France.

It would have been impossible for a foreigner with
no money and friends, like Napoleon, to succeed in
France. But history changed, and so did Napoleon’s
life. The French Revolution happened, and the
government granted full rights of citizenship to people
who were not French. Because of this historical event,
Napoleon participated in French politics and was able
to demonstrate his skill.

Napoleon was very ambitious, and he wanted to
conquer the whole of Europe. He nearly succeeded,
but other European countries fought back fiercely and
did not allow him to carry out his dreams. The French
soon got tired of fighting. Despite the constant battles,
Napoleon is not remembered just for his fighting. While
he conquered Egypt, he ordered scholars to research
into Egyptian culture and art, and succeeded in reading
the ancient Egyptian picture writing called hieroglyphics.
He also established the Napoleonic Code, which is a
set of civil codes or civil laws. Many of the European
countries copied the Napoleonic Code.

Well, time is over. See you next time.
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Furlher Study p-137

Napoleon : great soldier, general, fierce leader

— He was not from royalty, and not French either
— Historical event : French Revolution

*. He got citizenship from the govt.
— Napoleon’s achievements : ® Egyptian research
e Napoleonic Code
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Actual Test ©@

1.B8) 2.(A 3. 4(A 5.D)

6.0) 7.(A) 8.(B 9.(C) 10.(C)
11.(D) 12.(8) 13.(D) 14.(B) 15.(C)
16.(D) 17.(B)

: Excuse me. Do you offer any computing classes in this
lab?

: I’'m sorry. We don’t have actual classes to teach
computers to students, but perhaps | can help you. Are
you new to computers?

. Yes. It’s really hard telling someone this, but I've never
used a computer in my life.

: That’s alright. There are many people that are new

to computers. But if you’re uncomfortable learning
from courses, then you might want to try learning it by
yourself. Our computer labs have very easy instructions
on the bulletin boards. It is easy enough for beginners
to try for themselves. Also, there is a computer
assistant that works part-time in there. He can help you
if you have any problems. He’s a student here, and you
might even know him.

: I was hoping that | could learn from a stranger. | feel
that | won’t be shy to ask questions to strangers.

: ) | don’t know about that. The assistants know how
to teach beginners because they know what they

are talking about, but I’'m not so sure with complete
strangers.

: 1 guess you have a point. Is there any other way that |
might be able to learn computers easily?

. There are so many ways. Oh, | just remembered
something. | bought my dad this book about using
computers for beginners. You see, he’s a beginner in
computers, just like you, and he said that the book
was very helpful. I'm not sure if they still sell it in the
bookstore. Maybe the book will help you out, too. So,
what would you like to do? Do you want the assistant’s
contact?

. Perhaps I'd better get that too. Thank you. You're been
so much help.
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6-11.

T. Whales are the largest creatures on Earth. Naturally,
they must eat a tremendous amount to store up plenty
of energy. And whales move to warmer waters when
the waters get cold.

W: Why do they need to do that? | thought that whales do
not get affected by cold weather.

T. Q11 ) Most whales move to warmer waters. Why they
need to do this is debatable. There is a theory that says
whales move in order to save their energy.

M: That doesn’t make much sense to me. Aren’t they
wasting a lot of energy just by swimming around?

T. You brought up a very good point. Logic tells us that
whales are doing something foolish. They use up a
lot of energy by moving their huge body. Still, they
somehow know that once they reach warmer waters,
they can get much more energy. | personally think that
this theory is believable. It's quite amazing, if you think
about it.

M: What do you mean by that?

T.  Warmer waters have more food than colder waters

Scripts & Answer Key A53



for the whales to eat. It’s only natural that more small
animals live in warmer waters than ice cold waters. The
whales seem to know this.

W: You mean that the whales are intelligent enough to
make such decisions?

T. Maybe, maybe not. So far, people think it’s more
towards instinct than intelligence. After all, it's all
theories. Q9 ) But what is amazing is the fact that
whales seem to have a map of the world’s oceans in
their head. They almost always end up safe in warmer
waters. This theory looks like it’s worth studying more
about.

= 4= X2 OllLXIE X
25t7| QAohM YL US HO{0F ofE. 2|1 TefSE +20] HOIX|
M MXe 2 0ISELICH
W: off Z1e2hof st= dUI? Me Tefle & Mo SES o TS A2t M

He.

N

4T 3o

-

30 o &2
o> 1o i s
i Ao fjr

o2 b

3 K

g0 T

]

Fo =

KSR

oo

= o

mjo

il

S

=]

Offl

o

-

ul

)

[

o

=)

_O'I_l

rir

Rl

rir

T

=
>
ro
2
rr
NE
Hu
=+

30| 2 7t=dR. 3 30t sl B2 oUXIE |

_{
o qp ob
BYorlo rir
Moy
rlufn 7o
ro Wo £
ol N
G
i O
0o
o T
) o
N
o I
o =
o r2
= K
e
ro o
2 7
| I——
>
iromy

[N}
rlo
B
R
rok
THo
o
e rr
|0
re
in}
el
10
2
inl
Rl
U

ne [
mjo
4>
30
inl

|

P
2

I
k=l
08
]
rin
e
I H
2 30 3o
o
wr P o
=
re
k)
|0
HU
nrol
k=]
b
o
ng
mjo
ra
Q'E
Il
=
0=

r> oo mo mn
il
o
0x
N
gl__l
W
™
=
o
0
kO

o1y
3Ia
i=}

2

)
=D

_{
¥R
o
Mo
=2
|
2
Mo
HT
n
[l
)
mujn
=)
o1

¥R
o
4o
=2
o
&2
ro
ro mo

BRo
n

un mn
rlo
o
N
i<}

mo Kl
N
my
>
il
inl

=)
[
o
'] mjo
ox M
IR
IR
_O'E
il
rr
B
0
N
[56)
pe)

0
Ral
oy
A
>
o
i
rlo
W
N
(=)
Ral
or
HI
n
rhr

_|
]
i
4
H'|
30
[
k=)
uc
O o 3o
o HI nE fr
ra
Bl

or
N
i
nl
!
0z
N
:°.|:'
1o
rim
]
N

S
rlo
=l
o
mjn
=)
[l
=
)
=3
ful
It}
Ral
H1
i
= 7o
i
i
=2
N
bl
=]
30
rr
N
N
in]
rr
oY

creature M= tremendous &Lt 7chst  store up MESICH

debatable =z9| oix|7t = logic =2| intelligent ==st

12-17.

Greenhouses are used by farmers in cold climates.
They allow plants to get sunlight and trap heat. The result is
warm air inside the greenhouse. Scientists use them as an

example to explain a big problem on our planet. It is global
warming. The theory is that the whole world is becoming
hotter because of what humans are doing on Earth. They
say that humans are polluting the environment and making
tall buildings that are bad for the environment.

Different gases absorb heat bounced off the Earth.
Most of the heat is supposed to go back into space. But
too much gas in our atmosphere, such as carbon dioxide,
means that a lot of the heat will remain on Earth. The gases
act like a plastic roof in greenhouses. They prevent the
heat from escaping. This can lead to higher temperatures.
Although we might not feel it, the world has become hotter
in the last 100 years by about 0.6 degree Celsius. At this
rate, in 1,000 years, the world would be 6 degrees hotter.
[t would be a huge disaster to the world. If the icebergs of
the world were to melt, the whole Earth will be flooded.

Another reason why scientists think humans are to
blame for global warming is because of our buildings.
Everything on Earth is supposed to absorb some heat, as
color absorbs heat. But big, tall buildings in large cities
have very shiny and silver windows, almost like mirrors.
They do not absorb much heat. Instead, they reflect as
much heat as possible. The heat, instead of going back to
space, gets trapped in the gases. Experts think that this
cycle is making Earth hotter.
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Actual Test ®

1. (A 2. (B) 3. Yes : (A), (C)/ No : (B), (D)
4. (D) 5. (A) 6. (C) 7. (B) 8. (A)
9.D) 10.B) 11.(A) 12.(A) 13.(C)
14.D) 15.(C) 16.(A) 17.(B)

1-5.

M: | was wondering if you could help me with something.

W: Sure. What seems to be the problem?

M: ) Well, I'm looking for a book that | need to use in my

English class this semester. It’s called Introduction to
the English Language.

W: Are you kidding? The semester started over a month
ago.

M: Yes, | know, but | lost it last week. | left it on the
subway.

W: That’s too bad. Anyway, let me see if we have another
copy in our database. No, I’'m sorry. That book is all
out. It looks like the students have bought the last of
them. And it looks like there are no plans to order them
in yet.

M: Oh, no. | really need that book. Could you please check
it again? | can’t finish the course without this book.

W: Keep your hopes up. You might still be able to get it
somehow.

<

. Really? How?

W: Well, first is to get your professor to request another
copy of the book for you. Second is to try another
bookstore outside the school. Third is to put up a note
on the message board in the cafeteria. Someone might
have an old copy that they might not need anymore.

M: Alright, I'll try the last option. Erm ... how do | get to the
cafeteria from here?

W: You can take the stairs just outside the shop, but it’s

a long way down. Instead, turn left outside the store,

walk to the end of the corridor, and you'll see the lift.

Take the lift and go down all the way to B1. The whole

underground floor is the cafeteria.
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6-11.

Mass communication is one of the most powerful
tools we have for spreading information. This includes
different media, such as television, magazines and, of
course, newspapers. The stories in the media are written
by journalists. Journalists are responsible for reporting
facts exactly as they happen or happened. The readers or
viewers should be given an unbiased view, so that they can
form their own opinion. Q11 ) However, we constantly see
journalists and their stories showing their opinion by siding
with one side of the story or issue. Why does this happen?

A large part of the problem is caused by culture and
favoritism. Everyone is taught and given ideas about
certain things in life. So, it might be hard for one person to
give up that view easily. Because of this, expressing their
personal opinion on how they report the stories might be
understandable.

However, there is also another reason, and it's the main
reason why the problem has escalated into an ethics issue.
Some journalists are getting corrupted by large companies.
They are given favors and sometimes even money, to show
favoritism to the company’s goods or services. They do
this because the benefit of getting good reviews in various
media is the most effective way for companies to succeed

in business. If the journalist and the company get caught,
it could mean serious trouble under the law. Q10 ) But to
be fair, not the entire problem lies with journalists.
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12-17.

T. Bicycles are a great example of how efficiency works,
because bikes have been developed to increase
efficiency.

M: What do you mean by efficiency?

T. It's a measurement of how something works, with the
same amount of power.

W: Does better efficiency mean wasting less energy?

=

Exactly. I'm glad you understood it quickly. Now, bicycle
pedals are pushed with our legs. And since we get tired
after some time, bicycles must make full use of what
we put in.

M: How can bicycles do that? Aren’t they all the same?

T. That’s a good question. Bicycles can look similar, but
their efficiency can be different. One bike might be hard
to pedal, while another can be very easy. Let’s compare
between the old high-wheeled bicycles and modern
bicycles.
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W: | think I’'ve seen those before in books and television

e

oM 2
>
>

, efficiency &2 measurement =%
shows. | don’t even know how people got up on those y =& °

things. They look very dangerous. physically Zzixeo=2
Yes, they were dangerous. Many people fell because
they were so tall. But during that time, people just
started to understand about efficiency. {3 They realized
that by using a larger wheel, we could travel a longer
distance with one circle of the pedals than a smaller
wheel. Since the pedal was directly on the front wheels,
people just made the wheel as big as they could. It

didn’t make the pedaling easier, though.

. Couldn’t they do the same thing with gears? My bicycle

has so many gears to choose from.

No, gears came much later. They didn’t even have a
chain. Modern bicycles take advantage of the same
ideas, but without having large wheels. Because of
different gears, modern bicycles have much greater
efficiency than older bicycles, even if the new ones are
physically smaller.
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Actual Test ©

1.0) 2.(A 3.0 4.8 5A
6.(C) 7.(8),(C) 8.() 9.
10. Yes: (C), (D) / No: (A), (B) 11.(A)  12.(D)
13.(C)  14.(C) 15.(A)  16. (D)

17. Freeware: (B), (C) / Shareware: (D) /

Commercial ware: (A)

1-5.

= 4= 4

) Hi, Alex. How are you?

: Fine, thank you. | was wondering if you had a minute

or so.
Sure. We can talk now. So what'’s your question?

. | really like your course and would like to take it. I'm just

not sure about the assignments. I’'m not used to writing
short papers together with my work in other courses. |
don’t know if | will be able to turn in all the short papers
that the course requires.

Hmmm ... | see. | designed the course work in order to
help the students in the class. | didn’t want to put on
pressure by asking for a big final exam.

: Yeah ... | can see that. But | think that it might be better

for me to take a big exam or two big exams.

OK ... Why don’t we do this? | think that you should

still hand in a short paper, just so that you get some
practice. It's not easy to write a short paper, because
you really have to say exactly what you want to say. So
turn in a short paper and then two smaller papers. How
does that sound?

: Great. Thank you so much. | really appreciate it. Will

you give me the deadlines for the smaller papers next
time in class?

Sure. Thanks for reminding me. Let me make a note of
it. OK, great. I'll see you soon, then.
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6-11.

T. Let’s discuss something called evolution. Evolution
means changing according to the surroundings. Just
20 years ago, everybody thought that humans evolved
from monkeys.

M: Yes, | heard about that. Didn’t Charles Darwin write a
book about it? That’s why he’s so famous.

T. You're right. He wrote a book called The Origin of
Species. The book talks about how all animals evolved
from some different animals. He stated that humans
came from apes, a type of large monkey.

W: 3 | don’t think he was right. | mean, he didn’t have any
scientific proof, did he?

T. Not really. A lot of people nowadays are wondering
about his theory of evolution. Even DNA testing cannot
tell us if Darwin was correct. Although DNA still cannot
tell us whether we evolved from apes, it did prove some
of his other theories.

W: | heard that all he really did was go to the Galapagos
Islands and look at different animals. He grouped similar
animals together and wrote a book about it. He didn’t
have scientific evidence to support it.

M: But you cannot say evolution doesn’t exist. Even we are
changing, aren’t we? Animals are designed to adapt to
different environments.

W: | see your point, but if there were such big changes due
to evolution, there shouldn’t be apes anymore. All of
them should have evolved into humans. Yet there are
still so many types of monkeys and apes around the
world.



T. You've got a good point there. It was a rather difficult
concept to agree on when Darwin first published the
book. It’s even harder now that the book is widely
accepted as the truth. | don’t think that we will really
ever find a true answer about evolution.
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12-17.

Downloading computer software from the internet is
becoming a normal part of our lives. But is it stealing?
It really depends on what sort of program we are
downloading. To help us know if we are stealing, let’s talk
about the three main types of programs on the internet.

The first is freeware. This means that users are free
to download and use the program or share it with other
people. The makers are usually programmers that make
programs for fun or to showcase their talents. However,

many companies also offer freeware that can be used with
their other programs. Freeware programs are usually very
small and simple. Shareware programs are usually demo
software for companies. People can use the program,
but users should pay if they like the program. Fortunately,
shareware programs do not cost a lot. Many of the
programs have a limit on how long users can use the
program, or only offer basic functions of the program. In
some cases, programs are freeware for private users, but
shareware if a company wants to use it.

Commercial wares are programs that users must
buy to use. These programs are made to make money
for the software companies. They are usually very big
and complicated programs that users must study to
understand. f{3 Famous commercial wares are operating
systems and designing programs. These programs are so
well-known that they do not usually offer any shareware
demo programs. A single commercial ware program can
cost thousands of dollars.
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